
MATHS

BOOKS - MBD NCERT SOLUTIONS

PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

Multiple Choice Questions

1. The value of x and y from the equation  and 

 are

A. 

B. 

C. 

x + y = 14

x − y = 4

x = 9, y = 4

x = 9, y = 5

x = 5, y = − 9

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bd9gc4LcWEbD


D. None of these

Answer: B

Watch Video Solution

2. The value of x and y from the equation

 are

A. 

B. 

C. 

D. None of these

Answer: B

h id l i

x − y = 3 and + = 6
x

3

y

2

x = 6, y = 9

x = 9, y = 6

x = 8, y = 5

https://dl.doubtnut.com/l/_bd9gc4LcWEbD
https://dl.doubtnut.com/l/_FiH7ilCv6FJ1


Watch Video Solution

3. The value of x and y from the equation

 are

A. One solution

B. No solution

C. Infinite solution

D. Noen of these.

Answer: C

Watch Video Solution

3x − y = 3 and 9x − 3y = 9

https://dl.doubtnut.com/l/_FiH7ilCv6FJ1
https://dl.doubtnut.com/l/_tycx16gK05ju


4. The value of x and y from the equation

 are

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2x − y = 3 and 4x + y = 3

x = 1, y = − 1

x = 2, y = 1

x = − 1, y = 1

5. If in equation

then which of the following is true?

a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0 = ≠
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_OgEvtOIIn65B
https://dl.doubtnut.com/l/_PCpAmYFPERm6


A. Intersecting lines

B. Coincident lines

C. Parallel lines

D. None of these

Answer: C

View Text Solution

6. If in equation

then which of the following is true?

A. Intersecting lines

B. Coincident lines

a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0 = =
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_PCpAmYFPERm6
https://dl.doubtnut.com/l/_wkWhQUL1PsB7


C. Parallel lines

D. None of these

Answer: B

View Text Solution

7. If in equation

then which of the following is true?

A. Parallel lines

B. Intersecting lines

C. Coincident lines

D. None of these

a1x + b1y + c1 = 0 and a2x + b2y + z2 = 0 ≠
a1

a2

b1

b2

https://dl.doubtnut.com/l/_wkWhQUL1PsB7
https://dl.doubtnut.com/l/_CwiiPZRq0zwh


Answer: B

View Text Solution

8. If in equation

, then which of the following is true?

A. Unique solution

B. No solution

C. Infinite solution

D. None of these

Answer: C

View Text Solution

a1x + b1y + c1 = 0 and a2x + byy + c2 = 0, = =
a1

a2

b1

b2

c1

c3

https://dl.doubtnut.com/l/_CwiiPZRq0zwh
https://dl.doubtnut.com/l/_hGJm03fg9ryI


9. If in equation

 are such that

, then which of the following is true?

A. No solution

B. Infinite solution

C. Unique solution

D. None of these

Answer: C

View Text Solution

a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0

≠
a1

a2

b1

b2

https://dl.doubtnut.com/l/_hGJm03fg9ryI
https://dl.doubtnut.com/l/_NZi5IaeLl3QM


10. If in equation

then which of the following is true?

A. Unique solution

B. No solution

C. Infinite solution

D. None of these

Answer: B

View Text Solution

a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0, = ≠
a1

a2

b1

b2

c1

c2

11. For what value of k, the pair of equation

 has a unique solution?2x + ky = 1, 3x − 5y = 7

https://dl.doubtnut.com/l/_z6EpQvVPwm79
https://dl.doubtnut.com/l/_8RDNhN5LDh4r


A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

k =
−10

3

k ≠
−10

3

k ≠
10

3

k ≠
3

10

12. The graph of  is :

A. x - axis

B. y - axis

C. A line parallel to x - axis

x = 5

https://dl.doubtnut.com/l/_8RDNhN5LDh4r
https://dl.doubtnut.com/l/_qBogQUuA1ZFv


D. A line parallel to y - axis.

Answer: D

Watch Video Solution

13. Linear polynomial  represents a :

A. Parabola

B. Straight line

C. Circle

D. None of these

Answer: B

Watch Video Solution

3x − 2y = 5

https://dl.doubtnut.com/l/_qBogQUuA1ZFv
https://dl.doubtnut.com/l/_XVOxbxJ9ap4j


14. For what value of k, the following pair of linear

equations have infinitely many solution? 

 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

kx + 4y + 6 = 0

3x + 8y + 12 = 0

k = 6

k = 3

k = 2

k = 1.5

https://dl.doubtnut.com/l/_XVOxbxJ9ap4j
https://dl.doubtnut.com/l/_REnmcg4gCqPF


15. The value of k for which the pair of linear equations

 have

infinitely many solution is :

A. 

B. 12

C. 

D. .

Answer: D

Watch Video Solution

kx + 3y + (3 − k) = 0 and 12x + ky − k = 0

−6

−12

+6

16. Half the perimeter of a rectangular garden whose length

is 4 m more than its width, is 36m. The dimensions of the

https://dl.doubtnut.com/l/_tGIqGaqy6h6b
https://dl.doubtnut.com/l/_01MbHjlLcQQc


garden are :

A. 26m, 10 m

B. 20m, 16m

C. 22m, 14m

D. None of these

Answer: B

View Text Solution

17. The value of p, for which the equations 

and  have unique solution is :

A. 

B. 

6x + py − 5 = 0

3x + 2y − 8 = 0

p = 4

p ≠ 4

https://dl.doubtnut.com/l/_01MbHjlLcQQc
https://dl.doubtnut.com/l/_TZnYPAEX25y3


C. 

D. .

Answer: B

Watch Video Solution

p = − 4

p ≠ − 4

18. The solution of equations 

is :

A. 

B. 

C. 

D. None of these

3x + 4y = 10 and x − y = 1

x = 2, y = 3

x = − 2, y = 1

x = 2, y = 1

https://dl.doubtnut.com/l/_TZnYPAEX25y3
https://dl.doubtnut.com/l/_ZfBz2UiIxwM1


Answer: C

Watch Video Solution

19. Linear equation  will

have :

A. Many solutions

B. No solution

C. A unique solution

D. Two solutions.

Answer: C

View Text Solution

5x + 2y = 16 and 7x − 4y = 2

https://dl.doubtnut.com/l/_ZfBz2UiIxwM1
https://dl.doubtnut.com/l/_nNe1jZ5giajI


20. After solving the linear equations  and 

. The value of y will be :

A. 3

B. 4

C. 

D. .

Answer: B

Watch Video Solution

−6x + 5y = 2

−5x + 6y = 9

−3

−4

21. A graph of linear equation always represents a :

A. straight line

https://dl.doubtnut.com/l/_Eaw1p9jMXl6u
https://dl.doubtnut.com/l/_F8o4qKQV3CXc


B. parabola

C. circle

D. None of these

Answer: A

Watch Video Solution

22. For what value of k the equations

 have unique solution?

A. 

B. 

C. 

D. 

2x + ky = 5 and 3x − 3y = 6

k = 2

k = − 2

k ≠ 2

k ≠ − 2

https://dl.doubtnut.com/l/_F8o4qKQV3CXc
https://dl.doubtnut.com/l/_TtYcRSqinkSO


Answer: D

Watch Video Solution

23. For unique solution of the equations

, the value of k is :

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

x − 2y − 3 = and 3x + ky − 1 = 0

k ≠ 6

k ≠ 3

k ≠ − 6

https://dl.doubtnut.com/l/_TtYcRSqinkSO
https://dl.doubtnut.com/l/_K296C0vbC1Hs


Short Answer Type Questions

1. Solve : .

Watch Video Solution

+ = 13 and − = − 2
2

x

3

y

5

x

4
y

2. Solve the following equations : 

 


Watch Video Solution

0.2x + 0.3y = 1.3

0.4x + 0.5y = 2.3

3. Solve the following equations : 

 
3x − y = 3

x − y = 4

https://dl.doubtnut.com/l/_yGJijl2JswCZ
https://dl.doubtnut.com/l/_S4IWm4gE7RNm
https://dl.doubtnut.com/l/_PTyflHEpRoyv


Watch Video Solution

4. Solve the following equations : 

 

View Text Solution

1.5x − y + 2 = 0
5

3

x + 0.5y − = 0
1

3

13

6

5. Solve the following equations : 

 


Watch Video Solution

√2x + √3y = 0

√3x − √8y = 0

https://dl.doubtnut.com/l/_PTyflHEpRoyv
https://dl.doubtnut.com/l/_K5pwNinVNKaB
https://dl.doubtnut.com/l/_HulBo9IY8YkA


6. Solve the pair of linear equations : 

.

View Text Solution

− = − 2 and + =
3x

2

5y

3
x

3

y

3

13

6

7. Solve the following equations : 

 


.

View Text Solution

+ = 3
2x

3

y

2

− =
x

2

2y

3

1

6

8. Solve the following equations : 

 


.

+ = − 1
x

2

2y

3

− =
x

3

y

2

13

6

https://dl.doubtnut.com/l/_U1hiWWoI4BFb
https://dl.doubtnut.com/l/_p6K3wOZcR9pq
https://dl.doubtnut.com/l/_0FQ78pWRCJyC


Watch Video Solution

9. Solve the following equation : 

 


View Text Solution

− = − 2
2x

3

3y

2

+ = .
x

2

4y

3

25

3

10. Solve the pair of linear equations

Watch Video Solution

3x − y = 3 and 7x + 2y = 20.

https://dl.doubtnut.com/l/_0FQ78pWRCJyC
https://dl.doubtnut.com/l/_xaDT4bODxoNv
https://dl.doubtnut.com/l/_0jpVUoENUS8O


11. Solve the following pair of linear equations by

elimination method : 

.

Watch Video Solution

x + y = 5 and 2x − 3y = 4

12. Solve the pair of linear equations

.

Watch Video Solution

2x + 3y = 11 and 2x − 4y = − 24

13. 5 Pencils and 7 Pens together cost Rs 50, 7 Pencils and 5

Pens together cost Rs 46. Find the cost of one Pencil and

that of one Pen.

https://dl.doubtnut.com/l/_tD0J43KcZwrI
https://dl.doubtnut.com/l/_C57p7EcHUkGl
https://dl.doubtnut.com/l/_bS4jkK65ccQn


View Text Solution

14. The sum of the digits
 of a two-digit number is 9. Also,

nine times this number is twice the number
 obtained by

reversing the order of the digits. Find the number.

Watch Video Solution

15. Draw the graphs of the equations

. Determine the co-

ordinates of the vertices of the triangle formed by these

lines and the x-axis, and shade the triangular region.

Watch Video Solution

x − y + 1 = 0 and 3x + 2y − 12 = 0

https://dl.doubtnut.com/l/_bS4jkK65ccQn
https://dl.doubtnut.com/l/_uw8aIX88RIno
https://dl.doubtnut.com/l/_krqjf16uguWq


16. A fraction becomes 9/11
 if 2 is added to both numerator

and the denominator. If 3 is added to both
 the numerator

and the denominator it becomes 5/6. Find the fraction.

Watch Video Solution

17. 20. Five years hence, the age of Jacob will be three times

that of his son. Five years ago, ag was years Jacob's seven

times that of his son. What are their present ages?

Watch Video Solution

18. A fraction becomes  when 1 is subtracted from the

numerator and it becomes  when 8 is added to its

1

3
1

4

https://dl.doubtnut.com/l/_A6PwKMvjSyz1
https://dl.doubtnut.com/l/_5O728HepRH7v
https://dl.doubtnut.com/l/_S2AfLT7MS8Qa


denominator. Find the fraction.

View Text Solution

19. Solve the following pair of equations by reducing them

to a pair of linear equations: ;

Watch Video Solution

+ = 2
5

x − 1

1

y − 2

− = 1
6

x − 1

3

y − 2

20. Solve the following pair of equations by reducing them

to a pair of linear equations : 

.

Watch Video Solution

+ = 4 and − = − 2
10

x + y

2

x − y

15

x + y

5

x − y

https://dl.doubtnut.com/l/_S2AfLT7MS8Qa
https://dl.doubtnut.com/l/_7Fbr41CWrTef
https://dl.doubtnut.com/l/_aLPQjF3lGucj



